511A

SR

AR

S Y ¥ irjgmal Pt g

S A R

\ E,M Ze,ﬁé
Hﬁ?ﬁ“
AN/ F/N¥

(0)) ;ﬂ-ﬁ#’n > pLa‘

Sl (ol (5, 5402
S35 Sladnd ale o5l

SIS gl St Dlajlu

€.Ogus g0 THo| S0 D9 ! oIS 5D

[ 1FRA — 595 SLaoliits (599,39 5yl 9037 J

oo (390 3T

Ol ) =mileo 3T 0 yF

: A8 VO 1 o8 Fly wuw

B e e

APl S g ¥ 8 o I (33 lalo 3T 09 F ooges (1903T SHlade! go lgis

=P Tl Waw | ole U | ojleud 31| JIgew Slawd ool dlgo G,
aids 1A Yo ) Yo B lool g b \
PEICR) & O Y# Yo < ol Y
aids Y ) M Yo el Bjlao g K yd | Y
EVICE) & Yoo \4g Yo S| N PE B

gebign by 0l e ol coaildia g ailg jlr lajle ool fame b U s> g Gl ol ol oy 0ge )15l (o g Sty gy 39 44 Yl LT g 35l 3




Y azxduo S11-A (o )9 luodlg by

sl 9031 A 50 Lok yguaz pus Ao 4 (13 Jguz Sl ot 40 clidnl g Slasuine gy pus « 0l 5 cdbglo

Y PSRN PR IV PORg PAT S [ B PO 129 K PR PSR OY | - )
dz a8y g doligewl WL cawds 4 39,5 O 15 (WL jo zyase dbgls o)leds b 1y 058 Jaio
2 ign w1 plaoligewly plg ©YIGmiasg Ji35 5 2 o €30 J S0 g g9 Y IGm

AW |
Sl Camyd aio 35 pluS 0 cow S <<l;.$ 9y ylowd (5 1 g0l (L2
Flamw | Caw yo € So? o lous 4 4z g5 b Wojlg plus ol e
O o - F azl o9l -Y olelwiglpd =T (30,5 (59 5m 1Y Igo )
s g o g 1o le Y byl ados -8 Oy 0050 b e — 0
F_O_V (Y Y_Y_\y o
Y_7_0o(f Y_s_¥ (Y
Sl €yl 4 o by s )T B 1 Slre 30 iy 35 pluS glrosly
‘O}w Ja:oj so)lf.d so)')f (Y ‘09.») «Shmo clm 60)’).:) (\
w ‘\SLMA Ld.;ai cm)l (f W Alﬁ:o.; LO)li;‘ cm)‘ (Y’
Slowl Sgpinn Mol Ll (dojlg 09,5 plas o
ojlgi 5 ylas e 5 Jote 1Ol g2 (Y Eb Eo 5 T Ad o5 5 oghat wmead 25 ()
)‘Big)wswijsj)mswl.v(f O)ij)$u0ww|yﬂw)3ﬁjjo(v
fogi o0 Cdl oMol bale (o plas o
D)‘opbj_.ou.&‘g_}d_s%_)ibl__:w &__399-6’9_1934[_&15_55_):)._55.)__;3(‘
‘)‘)_éédau)éﬁd_:\b&.ie_’;ujs_w ‘)l—c)JHHﬁJ)J)l_:b‘L?(Y
J‘: 2 o\ A—‘ A f:‘us} 61 T GA ? < nl?')_') é.\ "9 ) (5&1 ~ é/ é(\u
s bz o e la S ob—e) el g2y s 2 (F

€3,10 0929 « 2l bl (Ol pluS 0

2,5 pay sl i 9ol 0sl b g o5 axdlas L L O

by pwald 4 Conolie 330 5 Segllae 0 g Jlex! (F

sl asslaily Jadsee o1 B pgy (629 4 el 03,8 ColaS ol e (V

28l st S ol ity Wik Jas Syl az e oIl ) 5 (F

flawl Caw 0 o 0l &0 acs 5l Oyl plus

el €855 a0 ], €Ll o 3 s 1o DS wis alio b S uS xsids Lo jaases ()
sl 03903 doz 5 (g puil > i |y ol JS e flalss g el ad degem (F

el 210 1 (90,8 b S e dugliie @y €l Jl50r el jo Ll 0,08 lagy (7

gm0 cy20les S oty 1T 1 o 55 1) 395 dyiglos dndad lgy (sl pmaidloSLo (F

-y



S11-A

¥ as

(o s wluolg L)

Tlplas cpj s slaas

Gliambnn Sl § Sk gl O Sommid?
5 Slel e olas cplgal oyl ()

olas pl ulim comlss pleal cass (V

«JY5 O gt Aok @l § mmiiad (0dlme

d‘]c‘ c)L’>.o ‘WLJ PLQH‘ cO)L!:o-wJ‘ (f
foswlas py Cus Lgl.bé\.g‘j
Iy o2 Gl bLSS S s L (5 g3

Jolee wolul LS olay wais (¥

o s g 55 39y 115 851
Jelsd el S g0l e Lol (Y
slone cadoles glul ¢ Jdad s colal (F
Sl Caw o €90 o (L plos Jslio eyl
Gl (S 92l) (g sl oyl S 85V o)l e Q'-‘*—J S— el QU—*”' — 0

(al.l;a_.J ‘c:._n.].») —a éL_ia ui :Lo._.uo).m ) o\)L_..g PL_D- FELY rn_\._n); d..._.;'...?u_I e Colls o )‘5)._\.._<._u 4
39S LsS Sl o (e s o T

OBl S i oz Sl oz 4 gz (F

(aameis A(_.',}f.etl;ws-) \)9..5‘54: ‘3 \)95 g)“’si'))b slial O¥ :\M

Sl 1S plep! g 0 ylasusl (6 ol yu> (i cpums 3lmor s glaas,l yiislo Blodd as Olal o

Sl oyl g gi Ot QT as oo cxe
Pl go— )l = o  pein 4
DT 30y ot Cmnl 08y 93 bl 0 3o
Syt stlhg o a4l ol 4
Sl (o2 )3 9w 9= 9 C—old WLLS

zedliciao(f

\_éJ‘s_Qsh._Jbzso(Y‘

Sl 31 (lgy o s ) pas Aol g2 (I
8yt (e Sy 595 01 o el Y5 (&
e oy pLBgb § o nad Lo yo p3 0 (7
LS Sl 3 o 2310 9 (grly y— (
Sgmods &) dimil 5 I (97 9 S LS (2

JJ‘.C._Q.Q“T:(Y Os_lstJ“assT:(\

Tl Sy aig 35 plas jo Olul cod F calil SLS1 g (gbaunn « Jogrio « obiko 148l slaojly (s JS1

255 L (ylaSos Lo §10 a8 Sloir yo—o
2t L (gl 4 g a8 oaed 1 (gl
a5 L Gl Slo U 45 Slodr S5
2 L i 09— )13 sl ) o2

z o oA (F

2B e &jles 355 g3 Jlaxs (i
N RS

S sE sg&]‘ EU(YI

w9 Lo Lo 00,5 Swlbo (wbod jo (I
S5 2 3 IS Glasiy 4y S (o
S ) PlE a0 ol jl w3l (z
Ol O3l 9 e 31 &5 (g3leo 4z 09 (o
o wdlz o z oo ()
fow! lalé (0319 09,5 plas 19905

Ol Al 80 pid Jleww Slblbal (M

¢ ! p‘.\s o A g ) S 30 00U Ao Gl»oj‘g ey

NE Y] [P —

«ﬂ-:J—“‘ S, P«

OLQJ sJ}x.fbo sdu.é TSSOV (Y
Jﬁ_um sJﬁ.tJbo 7S SSvewH) g.)l.ef' (?

PURER U ST 2y { WS RNV SO S S

J}x.é.a ‘W IS vowe GSLQ.; (\
Jﬂ“'&"" LDLQ) sdu.#é [Jevewey (YJ

-A

-1

Al

-y

-1¥



¥ axduo S11-A (o)l Slualg 4L

3,15 0929 oy el 9 (i, Al Wiz (25 )l o

U oot ol bl (51,315 j1 a5 5080508 SlolS ylod Wighis aod [y glows Goki 9] Cowlys oo oo
€l LT 1) dod abixd SO ol o0

b em (F Sz e (7 e lez (¥ g e O

3,18 Woliie (glamo «oylus plaS 50 « b dE»

(G35 g BT IE 605 bad plgas g o)L e 3 S e gl g (Y

NURAIRVAPESPVE SO RN W] Ay AT W) el [0 Cws a5 ! QT Sed > (Y

o ‘j).c 69:1 wLC 9 S| 453 a5 M?f” L)'" )‘ odLj‘} S| ).Con $3 Jl} O (f

flw! 3y G b ol Cuw plus” IS o940

€l )b e g 1y Al S jn > 25 H—Sogll Jo 0 cwln 55
Salz (LI 5k o5 pls A S e 5o e o YL (s (LSIL O
AR KN PRI S g Sy W gy Gl Slaw 5 Samj e o> 9 5902 Jo ol (Y
KOUEVIES. Y [PURS G L g SE SR I3 Sl 5 Ol 31 A5 0,8 5L el ol (Y
s By 45 53] el 2 bl a S LS, g5 ciSi oS oalyl (F
€3,10 Waldd «lul wlw b Cay ploS copdo

L pol el sId o pb o asls o, >da S oS el oy Jo o 2le gl ey (O
o Sy ot 3 Ko (g0 LS g S e Ja 8 epl S o (Y
S g e il o e 2, a3 S0 9,5 Bao cla e 50 i I (Y
Sl o ay Jlaga S 5 dbay Sl B EeliE S, S e s a4 S (f
Foamwl Dglae (oo plas jo awlos SHig

Y 5,0 Hlel, 51, o AN 5 S TSN SRR [ WG " LV
Sl Koo g e S — R sloam oy waglbadys 2,8 (Y
Oy b S Ob— xSl e S e (¥
Pt ol e S o el iz BEt— b el (f
Sl €y (b o T Rl 556 sty 42 G505 45 o235 0 o & (59 3 3t AB Ly IS
et S o e 5, e —aplyT o0l I 150
S (655 B0 sy a5 Hho—llh oy S35l gd a2 (Y
sl s b 3l s S S5 G2 2 50 3,0 S et s G9d Al (¥

J—oy G5 & g Ol ot 4 oz o cwles, S0 (¥

)

-\#

-V

A

-1

Y.



O daxio

S11-A

(o )8 luolg b

D3y 108 c0 b 30 Wlal dod 3 « SKiwlg i g ilad o potdo  —Y)

S lafe il g S o tn i >a >0
2,5 g S8
G et o g b Al S 5
w8 L ety 5 LS S Lds an

(o 03—l 85

€y 9 I (sl opl Cowl g g S gl oS
S 3 Jl e s ST s )
b T e gy wes Glows 5o
O g oo, Sled_p>a ol ey

St g (Slg— )0 4S5 (a0 4 39 9,8
p—tlod—ol ofy 4ot iyl 5429 Sl 4y LS
i —inS SLS jla S a5 pbdwSLs
Las g 31 39— Gy ol Lores

S (F

L oo 5l 09 g S

Sl oo )|oﬁ4_f¢w\ u.;)l_i Cg—R oi

il oy Sy sl A S

S Al (¥

05100, LSS 0,5 SLS 4 355 59,01 ()
3= oz = S S sl =5
OB Lo Sz 5l Cews wios s ST SL (Y
g gy plzal s Lo sl asalys- e 4 asl(F
ol 25 S patho 23U wCay plus

dmd il g2t e o o b plio (|
o Giis W 0 €im g Cans Oyl (g ()
oo L cl uwidg_‘gcl_fokﬁg_i(ﬁ’
IELS S e iz Sy i (59, 1Y
o2 ol e s e e e oo 5 (Y
founl sy Ol plas (IS o940

Sl g Gl S A2 s QLo.;T a (&l
Pt A2 i § g s J 30 9, (@
G0 Gmine ol W il S5 5 =S (2
B Bt yb 50 09— & B S (T (0
z o (¥ o O

3,18 Walas «lol plu b Sy plas pogdo
Er2z 59,05 L w81 LT g 2> ()
S 2L ol S8 g S wd a s (Y
pa—S Sol0l S5y s oAb (Y

Q)Lél < IBY I la‘o\)l el g 5(f
P! di0d g allls 31 €4lo ek 37 gus) o e At Yl (Zaw pluS pggio
NRSTS. P Y SN

Sl - ) J'l‘é\

bl p—o

C ,‘ Q“ o s I.\ < 45.)‘_5 ) JJ

g gl T o e 0SS e ol 4 S

\.\—.-..SJL_LU__A)A S 4 :OI“ .BQ(T'

oS a5 e dll g 5 el Ay ol (F

-y

-YY

R 1

-Yo



é UﬁY\#\J@ﬁYJMiY} -Y1

BRI LT RTE VI STPIRIE Vi |

e Ol s Lo a8l 50 2 5950 08 g Wgtie Cannn (¥

e Ol sl 4z wsss iz g 9l Zaws €m0 1, Lo (T

e lah dan 5l 5 Az S je n g g e 9 €009 Lo (&

2« Jaandl) Jb.nz\.sl.mgﬁdaﬂu;}b 5 <l S o Gald & piAdn »

1595050 NS syl Slge (23l 15 a5 358 o gl il (ol a5, Sigs oS 5l ()

lagpise 50 (2l Sloe Catis 8 oS wiiS o gl ptl Sap S I, el i, (Y

o 1o 3,5 (gl Slga (i3l 13 45 Ak s sl Sigs Xz 511 opaa g, ool (¥

laslge otal)l ol Sanio )0 955 o ol Sigs S 5145 Loy ks, nl 9 )5 (€

! gl ilay U G sl 9t o3 (ol Jnsanal) olpay Adlata dilandl G 540N 038 A cudl) »

590 gk Camgo a5 ! cudb! Logildl claol 4 laie Glale 45 onpuy Cpl o ol cauxe ()
teeulsst

Sl 1 595 sk Coysd a5 ool ol slgsl & lilo a5 conl (l suay ol 5o e (¥
oyl dLu

Cesd Ll 5l as aijls ey dbl ugildh bl @ lale opl o5 coul jolcafs oy ool o (¥
Mol 5,90 oS

Sy il ) a8 siilare Gudbl gildl sleol 4 Lwale ol & ol cpl o iSE weyay ool o (8
ladlisa )9 ¢ fashsS

ted 08 Lgigsa Ualadal Y 5pal o gmad @d Ldhas Ead »

Il o0 Sy S T slo,)l5 0 15 Dglybo b sloasla Lol Sl o Lo g6 ()

el ool sloib 5 5 slaasls gl)ls o] s 10 Eh jaal 4 Lo 353 5 T, bl (Y

el 3l o sla)ls @ Le plozal 1y a5 5 5 5 Sglib shls bs Eb s s (T

(

ol b ol slo)l5 as e Fowms, L) caslosl 5 5 sloasls gl Lo gl oyl o (€

-Yv

-YA

~Y4



Yaxio SII—A < QL“)
gt} e dhg e culls B g Lyl ay pledh cilolinn L) LS cgiliaall (e LIS Sao ABaal 03gh 5 =¥

5 O so 4l (Ll Cwds aF c! mslio gl)ls a8 jshailen s Gl IS (5 )l Slaws oyl oyl ()
Il 002 g yaa m3ad |
ol ous 4l Ll cas b a5 sle ulio a5 jghailen wool &5 0l solaws sllo oybeal ol (Y
109y oauy ALl puud 5l g
Wil bl Sty a5 sl slgiaie s a5 6eSiles el bl (pl gl A5 g b class (V
1095 00 B yma aLbdS sledle; 5l g oo
bl Cwd b S el Slgare ol Glp &5 45Slen sl G5 Ly solaws sl ol Gl (&
Il 009 By a0 4B 5l 5 o o arsLs
s AR (A AN il Wsdlilh D AN s (eilaly of cpdBilal) cpe e etk y 1Y
W jed 50,5 SO 1y ] (89 S el g | GUT )T a5 Canlgs Fais zélas 1 oleyobe ()
s ki LBl g cassS dllss g jmed aSi) (sl |y LG pl a8 0 ol o Loudllss 5l L jobe (Y
T e Ll g 5,5 dllas 1) LgsT o coisS il g | LBl ol a5 el g3 Lol 5l ecylo ol (Y
[ ol 4l 5l e o Ll oS cdllas 1) GBI oplaS o8 Calgs 5o oS oo cdlias a5 LS 5l Lo ol (&
o cadas U1 ais S el
t13R O Dlre pdd 13 Citan 2B &S () 1A B cLadla Anand S g2 Al Asaeal G Gy Y'Y
3 Gt B3k 1y 2 e (g 1S e 4 ol ipaidion Aage |y S 0l oS @agd 4 45 oIST ()

ledg ol

Loyl cnl 51 8 1y o3 ol (o 1S (e @y p S B o2gs (gl pnid oo Lot o1, (65 (35 (¥

!r:bg.g 0l

St 1y e o 5 (e S (0 4 5l 02 g sln paniSin Lo a5, e ol & el (¥
!‘a‘ow ul:.god.;u.:‘

) 3 o) w2 e 10T e 4y p3 S oo S pogy onid L)l a5 | (605 piwsgs (sl el a5 e (2
?fa|ow Ql;dd@u_a‘ JM

i) e v

LT @ 5 peds on lonle 51 1,500 @ oS olKia g teagalad 5 Gale (a pa¥)  dasd Lavie oSl (Y
(s sl

oy LSS by bigal ja 1y Dol s 3L leele o lualy el S eﬂl’f‘“ k,éj uY A (Y‘

135005 o 3 e 5 Sl i Jlo 51 b le ey 2140 Ty Y AT Ll 0 Gl 2l (8



Nazao 511-A = ol

Uadl) e vt
15555 1oy il s i2dlac w55 TBES Aty alall 3 g ()
IS oo (905 103 ofy 50 Lot (00 S &5 9) (yehe ThbLae i) 3 (peall dalad (Y
lobese S5 Smman W3S on S5 )59 1 pimgd 10esdll s 4hy o e sy (T
5951 55 8 oo 9 S yise Lot il T e LS Lol 1oLl 5y I8 Ul 112 51y allal agtinl il (¢
ol 1) ]
HAOSS 0SS (258 (i g0l )0 [0 aF ol 1 glaoliyr —¥O
Pyl alas sl 3 zalipd) e Elias ()
Mgl Gall) pulail Sacld sa 5 alindl Eudy (¥
Vi yal) alad 8 ine L Waaliyy Cnaag (¥
Mol alll ot 3 2o ld el sl (¢

tGad) quailiy Lag (£7- ¥1) Al ool A G Lol (E M

Uz AWl and g clsbsall 5 Jonll Sa; 58 9 #Ls¥) sl Alg o) n ) 34 il
Vil ALT g8 (a a3l allall B aSlaal) dnd 5 hladi sl 88 9 . Ofaall 5 laiad) asy

a5 Anp 4paa (Ohse 7) sl @S Aol B ASalatiy) Adgisd spudl Ofsal) Sl g8
LGS Lgihl b (505 Bl (a ol Aliimy (5 imal plash a3 238 LGHLIAT ) g

OLRN addiadd ALY i) Glua (A g -0 oL Ladiinn da)da Lgmdany B3daa £ 1l Coajlgall
1l Baaly A€l gh g 4da g A0Y) gsll padind Bl g (O)

il e -
L3]G DS (35 5D (all 650 ()
s Gl 98 5 (sl By5mm oSlaal i (¥
LS !y olsal) e livas 8 (ga J31 (stpnmnll S (Y
5aaly S Aadaall Gplpall 5 oS Al 5 AL 500 (Al aadiiu (€
oo alead) AN Uadl e vy
POV (Sa Gledll puad dia il (Y lacinall 8 Wld 5 Ly daial Cu ()
1Al dadadl ilsalls V) Juas3y (& 1Zaladl Jlu gl Ao sy Lol Wgean (¥
v Obpall (S5 Al ) 1l e - YA
Poalil) o 3l ) Aggns J 3 (Y 568 olsaedl 5 allal) eday ()
Pygmay V) et ()35 e Joani Y (8 fame JSlie aSlaall Joans (¥



Qazxbo 511-A

&= b

toall) asgdal B cpe —v4
Al el 5 JSI Vgl (Y 4l el ) b ()
Box el 53 Jlie Jamy el (2 Lol il g dslael (¥

(£ = £4) il Glaill g GleY) puaall e W

as b
«By» e dyciae/«ci»j-'\ » B)an 9« 9P Alat) dig g — dplall - ale Jad
et Aleal 5 «clalanind » aleld 5 Jad [ («rEi» (s o s opbama) (D yje— Llall (¥
«lay e Algmde 5 «ldadiuhy dleld [ (el (s e pug opuas) (JOE aje— (ale Jad (Y
Lled Alaa)l 5 clalaaind » 4leld Jad [ «dadi » 4335 5 «g 0 5> Ll g — alalaall (€
faddind » — ¢ )
Jiciall by jraia alseia 5 «sladl » aleld [ («dadind » (5 Ox) SN a3e — cailall ()
i;lxéi_l.q;c\_\c.lé@}‘_hé/«daﬂu\ » )y 5KaF U ALy ddga — Gl — & jloaa (¥
aleld 5 Jad [ («dladl » )y do caladiul toydan caadiul tapale) SNE ae — QL (Y
«y sty
«osMED » alels 5 Jad [ («phadinly a5 «dadily (s oe) DG ahe — golae Jad (£
A3lat Alaal
sl » — Y
@@y Jadl Jeld [ Ol (e — (Apal) Calia e AAN) dallie aud — SEA Al pes
€pddin » Jail Jeld [ Adme = («dldy () o) Rallie pnd = s 3 e pan =l (
Ll dagtbe (45l i s ool (5 0 3 bl g gm) Jb (s e — Sl ol en (¥
rdl deld [ b e — (sl §F A1 o VAN ) Sadlie aud = SAAN alli pas — audl (8
«pdaduoy
selalsl) ClSa b B Uadl) cpe - ¥
15,85 dgalival loaalis Suldll a3 ()
sl o (Ll i 2L Led Spd dala S0 (¥
osazll 50 o o<l uhq\ x CLAN 30 Eudlyy) (¥
A (

136G Ll laieY ! oo lamig O oS dadf 5% (¢



aall e it

il L) Jaay g3 (¥ &) 15Kl i) ()

e thpeiin Cigaay o1 (e (£ celah Gl el Y e (Y
:dabld\é‘,éucés—io

YY) seda day 250Ul 8 200sall Do jial) aalad) ()

"é)...aa.a U'Q)%” t_\aa.\.a‘\ & Ladl) %) PR d)a u\ A (Y

AT gl 8 ey can G0y Al 1 3 byla (V

TEIR) ey danis (saaall sl (£
eaipall Al 2o 4 (und e Ciie — 1

loma cilS ) YL e laie o] Cmdd (Y laagl) il Gaiegel) Cliea (g ()

Pl (o Tgmnd ) Jasee 8 (8880 ) (€ Leliaill & il &1 (e §55 S (Y
s Jaalll) acd » A (gl La cpe -2V

Py slany 5 alall (g oye Llealdl ()

'P@JL@L' ) smiiy cpal) Cpnalaal) S| (Y

toalie (ha ) aie Jlae ) J&1 3180 ol (T

Lol DS Uygae agd ) gadih e Wilsa) Caal (8
Jpdl) Gugld 48 el L e — €A

Tadlie Slae Jany 43 baiin ¥ goase 6 JRS0 Y (e ()

s alig all ) Jaeny o Baa) e Euly e (Y

il e anis S sed ale Lo 8 J5y ol oge (T

La SV il s (LAY o)\ 220 e g (€
:aﬁjﬁﬁ\zh&‘_iq

i elle 3 il Gl (Y L) & dlads 55l Jal ()

Telld 55 ¥ sl B80S a8 e (8 Lol & (Baaty = adl) cl (¥
:«ﬁﬂ\»@ﬁhd;&-é~

ops el Jull VI GBall Al 5 aieall Taball 30 Y ()

FopSpiall (e BisS Y e V) Ghia 20 Asgll A8 Lo (Y

talers Hlada) e V) alsY) 5l Gl Jas Lo (¥

! opmaiond) (e € 3 Y] anl Gyl ey (8



) asuo 511-A oDl B ylang Fin b

S o 0lat 1) S 4 gl €yl 3 £ (B 50 3P 2450 4T
aisls o bl 1) ) b T Lol g 03,5 ol 1 alolas aiglas ()
23,5 WS 3 el 3 45 Gl 5 Ghdsge LS Jal (F
.Q...:LaQT SUAL 0 e e Az Sy 3 L a5 Kl el L] (F
S wlggu s dy linl Jlesl a5 oS Last ol 52 1, oo (F
Sl ool p5 o> o) @ sloodts ol Aol p wlwly 09290 y2 WS o0 ..x.Jb ‘@\,5 u)b.: plas
“j,;,JL VLA G %{3 dn S el A %
£0yking] ‘x’ ,A\ Pdt__ab.u B (f LA "»jl ?_\wéj&‘ RE
Bod Gouw 4 &S o élf bl SplS S Sy 095 JloS 5 by prmeno 33 cxlnd! ! 03Y 45! 4y d g b
Tl oo (sly 0590 o0 53 o i
am 5 o Ol L s o8 0 0olil g Jae ()
Loyl 5l 6 5o e = itk v 5 bl cslis (¥
05 5065 50— @l g S ol Gl S (Y
SN Sy ol S _ ool Sy g Swi; Cos ool (F
fadgaigod (lt) 3 ©slus lzo Jlu a2 ol 9 omm.,gsu
1,5 B 5150 ) 320 s G
@zsmjf J,\ e u,;\ by 14T %3 SR vu\%; Y
AR e \,&\U FReIS b jm ,,,\ .a.d\}f I\
€08, b 3 58 B5Y 5 PG D ha T 2 3 ; 4&:3&\ GF g f
iz il (81 (ol s épi’& o el ;059\’.' BP sy ylee @ a2gi b
Sl Gl S (B8 Slaainn ¢ std! i O
Lawls Slaplon 5 g sl (s pdyad st (¥
cosl sl SIS 5 ol paS 1 mbs o gl s (F
ol I plol s Ll 2,08 SSlid wcalad g culs ) (F
OV oy B 3l 50 o o o 4 4299 b a5 ol (63,8 sl WIloypB Ry Ak 300 4T plas
)l Ysb o las Wy o pan 51
€4 4 5 G g sl ol i s 1 O
& il c;.uu\ o 3 uﬂ,*x@uuﬁu M\ﬁ;»(r
€, ,a&'\ 3l [ B Ll Gl gw\ LT s L»\ SRR
qu,mm&'(:z L@u&\éﬁmwg;@y,%w,&m"“ ;uﬁ; (f
S o] Judd g ol 1aS Lo Grals €€ o0 s ot 103 OIS @ ouilyl oo bTH 3gus Juws ,5
ool Jls 5 5 532 ablsl - ie ()
ol (S Wiglas Slas g OIS cute (Y
3 Olg e 1) Selas S5 o clhg yo g ol B3y ety o -t (F
Dy e s las @ e e ol oK g 4wl L s . i (F
Cawlizo u-"u-*M“W)-“ &l ,al.\S ply 9 Wi € Soy o (e 4 aiwlyl Bluil Sloj 4>

4,U \}ow Q\ ob\}: r._g\k_ﬁ\ L»l Jsﬂ WS oy g5QJ| S § Caand ¢ .L.:Gfdu) s Sy sl ()

% 1 i’.o s“°i ‘
<{ ny Jli\}uﬂ ."’”l Y L@.:\ L'g_&.ﬁ_{lv\u Sl Sow 9 S (L S35 sles S T pled (V
.. al) \a.':aji‘;' Qi E:b-\lé l,.ghfj L«.l J,@ ailay s o) 593 89,8 4 51,8 50 Swis 1o Jhe s (F

N

R z <
3 _ 8
|

oo ol éJl ¢l aall é_g‘\ :},.LJJ L@.f B — wilay las o) 093 99,8 ¢ 51,8 5 i o J5e e (F

=)

-ay

—AY

0¥

-0

-85

-0y

-&A



Y asduo 511-A ol G ylang Fin

ol plas’ @olgar leo 33 oz S g sl et leol gyl e 5o

a3 o |, Clolad cos (po 9 oS o y3 3y s Jlo> i 5203 By 5 Sls | 595 a1 Se Slils (O
Wile oo 293 g ) e ye g Al g0 Klogrd (3o SD ) 095 5 Ll piy IS (F

Siloads Jgrdus 350 (30,5 ol o5 4y 5 wilos S bgel 8 1) €auall oMy eod dll o a5 BT (¥

LIS s ol i Sl gl 4 g € Lo oS0, LD S e S e 3 e (F

Sy U1 Oyl SUicl g Wilod ;55,9 pMuwl ;5 32 1y 4100 (0 355530 Pl 42

Dl e S i 1y celad csled s g les Lo - S e ()

Al e Sy | elad Canlg )0 g koo b - g 5SS (Y

aidlogs Fie |y QUL g2 5o Glmely jlasiul (IS i (F

Al e Sga | Glitlie 5> o el jlaiil - Lags ,0aS5 (F

fiogeyd ax bl (ol 3l oz g il J36 (ﬁ) ,e;l).wu pUgloglamar 4o az 5 olo @m)o 4.0.:,.»»4:‘ phas
e gl O el S5 d C_%i:.L.. qu,_ L;.:.:(JJ\' %Y ;u;i’_ ijL ;J\L@mfm
,; y alll S ,,..LA.‘. S8l @a;,,@ )m 1 5 J55% \}w\ w\ \pl T 2, L@.\ gk v
y\%oww o - € wwﬁ;ju\ ) b ludg_jwf.tu@w%«
d,. e s Y o5 e 4050 N i3 3 e Ao asd gl gp e
‘-}"‘-"';us-" QUi 1y (21365 51 (o) ol Cjlas oIS 5 ol patcdo o «Dylae oIS b (i Cyoe ol

iy o Legdl 5= Lol e g plall e LY Loge p2Smad (1= Lol (e 5 plell anyae GIOY

Lot oSl ool e o LA 5 18 o e (F B2y o bagdl 5 e g L5 1,80 o e (Y
ol ) (P S &) A ey pd & IS (s Ren j9udis (35 ) (AT g Gaof e Al @ an g b
sl 03905 0Ll € 590

4 La,_@_.»ajs‘_}: .a..a.\[jléu\f\qj.._‘ mrjlabba‘ﬁ’(\

41,5 m\_}\ s Lgas :Juf; L Ja 25§ I qj‘ RN

.. f)x'w s ] Sl Ll ;5;. T, e o

) alesd 5 Tl 5 N g i o B AS H A b

fog2 4z waz Jalus 35150 T HLiilebl 5 (BRD) pyane lolsl Jlad g owijlus jgudo § po

WS olwd ;0 LT 395 g lelel s FLs e 40 aw 5 sloo o> el 3929 4 ()

SISO slmogeds 53 uils; )b g olusl g pleSl> (59, iy W20 9 Jilis Jo (F

QD) plel goils o 5l oDl amalz (10 i 2 5 p0 0 Ao oy Lo galST 5 psle Jlansl (F

SRR (%) il 6 S50 (PR bl 4ndl s g i 50 S5 SlLS aal wal3 (f
Ceaslblgh of plail 1 aighass 3 Al o0 Fod g (PKen (458l Slas &5 ol el g1 (I iasl cady s BT 6105 0 gk
s T3l e LSS g g sF oo sy 1 LasyT 51 S O pe a8 oIS ()

ey 02,5 hgal )81y 0s> i u;t..;._;.;éT aS oy Jia b gl (F

Spoalos Bl 009 1) Lo 5 055 c0d 0ila 55 Lo (sms 42 030,8" laS LT (Y

Fols omaly 15 Gy IS L wsleals plasl anmls sla S 5 03,91 lonl o8 1 Loyl Lo L1 (F

daly oIS @ 9080 el 5 515 sloyed az €. Tulllo a2 3 S i ;U‘g G P ahs i 4T 4 Jos
CasS o0 0 Lol olao oy sliic]

950 (53 oo LdF - Ls (S a4 s Jo ()

G950 (SN Hagr S - o9l 5 (3 4 s Hles (F

Ol 95 4 lidigy 9 el 8y o - Lo (S5 4 Gred 3 (F

Obsl sy 4 (plidy, 5 vl 6,0 o Sb - ogail g > 4 puts s (F

~88

R

-5

-#Y

-$Y

-5¥

-50

5%



VY axiio 511-A ! B ylrog S 43

il o (ol S pge 4 B0 9 S 13 5 S 4z oy 5 GBI B33 oS Aaa 3 16 3P a0 4

Jlesl dab pols - 25 - bay Ll (¥ Jlee! &l yolo - cwold - sl O
olaels palss - culd - o)l (F olaald alsS - E5p - L% (7

).:.:;u L?“l‘“""ﬁ oUT 6)»1.]6 ‘si}‘.«»‘ﬂ L) usbu WIS gs ‘;Job dLb‘sJLuj Y M‘,T o)|9.o.§ ‘olglm &g' Seg b
foawl o B8 0590 plus

Sl 4 S (5L (sle S, 5 &M (F Ol 2Ulgs 5 poye (S35 Ll O
e sloo 0 50 HleSle cwlew g elaix! glogl (F 2o Hbleig le 608 slaogle (Y

$0 puSs ladogs bz Ll iy 9 WS e (Sl €59 0900 ezge iz 4

drelz )3 jphm plSia Sul)l gl S 5 2la) 295 5l (oo 2 (O

5 &2 plail 51 lsl 3 aazmad 5 w9 el Sl 5l 4 4zl (F

axale (gl Sl g dde Sl gl (B g Codgaio @ 5L (F

@l sl Adye 5 pluil zg) 5o Blie laaid; ol apnd (¥

Sl o3V e gi panne g ST 5l g (slodar 0ol g gl o ax

RV FF RPN IS SR SUR VIRV SSUICoWe] (i Ve IS Gt PR Q|

il oY dadr 5o 4 sl slacullad 5 5 sl 5 45 28y (1

Bod 6 S el ol (5,58 5l elais] sladdlmul slowl glawl 5l (Y

S g o 1) dsele Zolaw 5 Wgd S sloml (LS oS Slej 5l (F

4 . . o‘ ,°‘¢ o‘ PR ,‘ ,0‘ o, ’;'ia a' Ao } - 5. & 597 .
Cogdi o0 2l y3 ppstdo plas €L WS e AT Jas 5 Llgl A G 080 s N 3P a0 T
CA...AJLQQ‘ ) >y plourp:_iz.’ 540509 ) diga Z)A.s n_b))_‘i 3 | UL)‘)))S L;J.JL: [} _)....u) preee Q.J‘yl_o- Q
dilei oo 25 |y (S pdaCal gt ()8 g een 3o g s by ol sy s (Saddl g ady s eslgils (F
ilelge 425 ) (g pdadaton G55 5 plod & 322 g e by el et L 29, (oel g ial] Jale 00lgils- (Y
lebul <9 Sd>g Q"';UF'-‘T:S;U §gOy0 g L)) A.:g.:.a (‘:fq.: ‘&}).é 3 N | D L «9) w‘ [ O’“‘a‘)‘ L}-ALC o&‘y‘b- (‘:
iz OUT (l ool 160,18 (3 )3 (FUT pbl ceiddSh :alo b o0 G e ool

gisge Sl luSal g 8l o5 g ()

ams oo a3l lusl e ) el g (S sl (Y

35,5 o diglas Zellsl j5 alisS 5 Bun  bgal 3 o (F

a4

A

-4

_vo

-

Al

oS lw ple Jllieo 1y 03 50 g Sl ) 10 30 9 U (2,5 481)5 U Jole plas” VY

Doy dx gl o odlgls pllas 4 a5 ol Bl EasSS g axal> SlSLT ()

m S LA ST o y08 U558 g 13 Jgu) (oo slogigts (¥

il | 055 3> pollie 5 jeme cdloe clanel> sl 5 o5 23, (¥

ansl> 50 sga5 bl Pl 13,51 Cewd 4 9 0,6 Slwdl edjxe (F

93,10 08> 4z gl CaogSia (P &y 9 Dguln o AiS Sl a4 gl

il go pli = adlos 3l plaal Lal wils lasl oads J36 ol 51 oy 9 pealy 2 4T 4 08 o (oS )

el pdlioliza - w05l lagl Ll s lagl oad 5 51 G 5 ol 2 4T 4 305 0 (S (Y

el piboles] o cal lad Hlasgl g leyd aS o0 caisS o (610898 s o ey a0 4 (F
O 3 o SRl o0 g wilo oo LT 15 aidd S5 g Wi oo yius (I youlds &y o8 pd a8 F 51 i 393 w0l 1 (50,8
el ploS 0,8 (521839 9 lod Adulsg ilos € e )0 Aidd 93 9 3951 SK43 G )3 ¥

2255 055 Wb g Sul JolS 55led 0 99 52 50 ()

2 039yl g Sl At (led el g0 2 0 (Y

2255 059, il g Sewl Jol5T Gsles €0 08 55 53,050 03, i 9 el S 5led €l ol 5o (F
25 0595 Sl g Senl Sl Lol €Y gl 53 59505 038y Wb 5 Sal elS S jles €aD ol o (F

-v¥

-Yo



V¥ axio 511-A Sl 503

Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four

words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best
completes the sentence. Then mark your answer sheet.

76-

77-

78-

80-

81-

82-

83-

84-

86-

87-

The tour guide warned the pcople who relied on him -——-—-—-- in the park when the night
falls.

1) thcy do not 2) not to walk

3) that they not walk 4) not walking

The newly employed girl is more efficient ---———- they have ever had.

1) than any othcr sccrctary 2) any othcr sccrctary than

3) secretary than any other 4) any other than secretary

While skiing, the young boy broke his leg and ===------ to the hospital immediately.

1) would be taken  2) had to be taken  3) had taken 4) took

————————— in a short time, especially when you are a true beginner, is something almost
impossible to do.

1) A language to lcarn 2) You lcarn a language

3) Learning a language 4) A language which you learn

The electricity they --------—- is not enough to meet their country’s needs.

1) achicve 2) collcct 3) require 4) gencerate

Michael Mann, a/an --—--——-- professor of atmospheric science, has been invited to give a
speech about the dangerous effects of global warming.

1) offered 2) donated 3) identified 4) distinguished

The man wrote a book based on the events he had recorded in a/an -——-——-- that he kept
during the war between his country Japan and China.

1) loss 2) diary 3) mission 4) imagination

Can you two just ———- your differences for now and get this done together, please?

1) put asidc 2) keep on 3) call back 4) gct away

Based on the belief that our worldview is influenced by the language we speak, it is often
concluded that language is like a pair of eyeglasses through which we “see” the world in
a/an ------—- way.

1) decorative 2) intermediate 3) particular 4) monolingual

With all his energy -----—-—-——- already, the jogger was not able to take one more step ahead
and so sat down to rest.

1) turned off 2) passed away 3) used up 4) given up

The war was very depressing but gave to the community a greater --——-—--——- of togetherness.

1) sense 2) device 3) factor 4) notice

A: “We’ve got my boss, his boss, the assistant manager, an advisor, and the head of IT all
involved in this project, and it’s turning into a complete failure!”

B: “Well, -——-——, after all!”
1) birds of a feather (ly together 2) practice makes perlect
3) two heads are better than one 4) too many cooks spoil the broth

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide
which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

[’s dillicult to say. Lots of people played a part in the development of the cinema.
A man called Muybridge (88) --—------ the first moving picture in 1878. It was a film of'a
horsc running and it was only a fcw scconds long. By 1895, other pcople (89) --------
various machines for showing moving pictures, but many ol these could only
(90) —-——-—--- by one person at a time. The development of machines that could project
films onto a scrcecn was important. Thomas Edison was onc of thc first to show very
short films to audiences of 20 or (91) --------- people. His [ilms showed acrobats and
dancers performing, or everyday (92) --------- like 2 man eating!
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88-
89-
90-
91-
92-

1) he made 2) to make 3) making 4) madc

1) were inventing  2) would invent 3) have invented 4) had invented
1) watch 2) bc watching 3) b¢c watched 4) bcen watched
1) few 2) more 3) the most 4) a few

1) events 2) customs 3) images 4) conditions

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

93-

94-

PASSAGE 1:

It is said that most people have no more than 30 friends at any given time, and 400 over
the wholc of their lives. Howcver, on social nctworking sitcs, most uscrs have about 150
friends. Tf these numbers are correct, then friendship means different things in different
situations.

One of the reasons people have more online friends than real friends at any particular
point in time is that online [riendships do nol require much time and energy: it is easy (o
make Internet friends and keep them forever. Another possibility is that it is difficult to
say “no” when somebody asks us o be their [riend online, even il we feel we don’t
really know them. The fact that they ask us suggests that they do consider us a friend,
which 1s a nicc fecling. Altcrnatively, they may be “collcctors” of online friecnds and
simply want to use us to get a higher number of friends and appear to be popular.

Onlinc fricndships arc quitc casy, but in the rcal world things arc much morc difficult.
There are no rules about friendship. There are no guidelines about how to make friends,
how 1o keep [riendships going, and how to [inish (riendships il we want to move on.
People also have very different opinions about friendship: some people would die for
their [riends and value them more than family. Others [eel that [riends are temporary,
only there to help each other until they are no longer needed. 1f people with such
different views become friends, this can Icad to problems.

It can be understood from the passage that --------- .

1) people turn to the Internet to make friends because they no longer value friendships

2) the situation in which people make friends influences the actual nature of their
friendship

3) online friendships last longer than real friendships that were a mark of past
relationships

4) the Internet has made people so close that people pay more attention to their friends
than to their family members

Which of the following best describes the function of paragraph 2 im relation to

paragraph 1?

1) Paragraph 2 explains why the claim made in paragraph 1 is true.

2) Paragraph 2 brings in some rcasons to qucstion the position taken in paragraph 1.

3) Paragraph 2 discusses the effect of the change in friendship explained in paragraph 1.

4) Paragraph 2 expands one of the reasons mentioned in paragraph 1 about why people
nowadays have more friends.
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95-

96-

97-

98-

100-

What docs paragraph 3 mainly discuss?

1) Why making fricnds onlinc is not difficult

2) People’s opinions about the role of friends in their lives

3) What makes making friendships offline in the real world harder

4) The reasons why it is necessary to change the way people make friends online
The word “this” in paragraph 3 refers to --——--—-—-- .

1) the link between people becoming weak

2) trying to find as many fricnds as possiblc

3) having different views towards friendship

4) people with different views becoming friends

PASSAGE 2:

Both men and women are living longer these days in the industrialized countries.
However, women, on the average, live longer. In general, they can expect 1o live six or
seven years more than men. The reasons for this are both biological and cultural.

One important biological [lactor that helps women live longer is the dillerence in
hormones between men and women. Hormones are chemicals which are produced by the
body to control various body functions. Between the ages of about 12 and 50, women
produce hormones that are involved in ferfility. These hormones also have a positive
cffcct on the heart and the blood flow. In fact, women arc Icss likely to have high blood
pressure or to die from heart attacks.

The female hormones also protect the body in another way. They help the body to
defend itself against some kinds of illnesses. This means that women generally get sick
less often and less seriously than men. The common cold is a good example: women, on
average, get fewer colds than men.

Women are also helped by their female genes. Scientists are still not exactly sure how
genes influence aging, but they believe that they do. Some think that a woman’s body
cclls age morc slowly than a man’s. Othcrs think that a man’s body cclls age morc
quickly. Recent research seems to support both of these possibilities.

What is the main purpose of the passage?

1) To explore reasons for a fact

2) To compare and contrast two dilferent [indings

3) To follow the historical line of a new development

4) To show the rolc of medical advancement i pcoplc’s lifc cxpectancy

How many biological factors does the passage mention as having an effect on women’s

living longer them men?

1) Onc 2) Two 3) Thrce 4) Four

What is the purpose of the example mentioned in paragraph 3?

1) To emphasize the role of illnesses in reducing people’s hope of living long

2) To prove that hormones can in fact help women in more than two ways

3) To support the claim made for the role of the female hormones

4) To refer to the most important illness influencing women

Which of the following statements is supported by the passage?

1) Not all men live shorter lives than women do.

2) Men used to live longer than women before the world became industrialized.

3) Scientists believe that genes are more effective than hormones to help women live long.

4) Scientists agree with one another about how genes make women age more slowly than
men.
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Part A: Grammar
Directions: Questions 101-110 are incomplete sentences. Beneath each sentence you will see four

words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes
the sentence. Then mark the correct choice on your answer sheet.

101- Unless you make sure that the flowers ---———--——- soon, they will go dead.
1) to walter 2) you water 3) be watered 4) are walered
102- Wait a second! It ——————— long to check the brakes in your car.
1) wasn’t taken 2) won’t take 3) isn’t taken 4) hadn’t taken
103- Fair ---—------- he may agpear to be, he tends to play dirty quite often.
1) while ) though 3) despite 4) howcver
104- The physician believes that the nurses will not resume working -----—--- their salaries
arcn't increased.
1) if 2) so that 3) because 4) whereas
105- Itis common knowledge that the Scottish wear kilts, ————— ?
1) are they not 2) don’t they 3) are they 4) isn’t it
106- Shelley is one of those poets ----——--—- almost certain to be represented in any anthology of
English verse.
1) arc 2) heis 3) who arc 4) that they arc
107- The test results clearly show that I do ——--—-- anyone else in the whole class.
1) better on essay tests than 2) best on essay tests of
3) as good on essay tests as 4) on essay test better than do
108- He promised to all those present that he will do all the carpentry for the newly built home
1) he himself 2) themselves 3) himself 4) itself
109- Is Richard Thomson, the Alfa boss, --————--- to fly round thc world in a hot air balloon

have all ended in failure, a better businessman than pilot?
1) that attempted 2) whose attempts  3) by attempting 4) attempts
110- A thousand years later, wealthy people would use the effects of evaporation to cool their

homes. ---------- midnight, they had the exterior walls and interior floors doused with
watcr.
1) Through 2) On 3)In 4) At

Part B: Vocabulary

Directions: Questions 111-125 are incomplete sentences. Beneath each sentence you will see four

words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes
the sentence. Then mark the correct choice on your answer sheet.

111- The newly established computer company ---------—- two thousand three-hundred-forty
dollars to Homer and Horsens College for computer programs to study the effect of a
spam dict on discontcnted studcents.

)

required 2) devoted 3) boosted 4) exchanged

112- When the slum property has been evacuated, it will be knocked down and -----—-- by
modcrn blocks of apartments.
1) converted 2) enhanced 3) retired 4) replaced

113- They consider the building to be an important part of region’s ---—-—- and have thus set
up a fund to preserve it.
1) destination 2) handicraft 3) inspiration 4) heritage

114- Historically, ----—-- — have been the most common method of organized waste disposal and
remain so in many places around the world.
1) plains 2) landfills 3) disordcers 4) fossil fucls

115- It has never been cleared up how the accident -------—--- came about.

1) widely 2) actually 3) absolutely 4) carelessly
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116- As many as 100 spccics of fish, som¢ -—--------- to these waters, may have been affected by
the pollution.
1) unique 2) familiar 3) hospitablc 4) acccssiblc

117- If a highly --——--—-—-—- scicntist were to tell you that the most glorious comet was going to fly
across the sky, you’d probably believe him or her.
1) enhanced 2) promoted 3) respected 4) magnified

118- He accused the government’s enemices of deliberately ====--=-- to make people dissatisfied.
1) secking 2) warning 3) influencing 4) ecndangering

119- ————- cducation is an optional final stage of formal learning that occurs after complction
of secondary education,
1) Intcrmediate 2) Advanced 3) Skillful 4) Higher

120- “Bird of a --——-—-—- fly together” is a proverb said about people who have similar characters
orhinterests, especially ones of which you disapprove, and who often spend time with each
other.
1) length 2) color 3) nature 4) feather

121- Depending on which major you choose, some classes are ---—--——- , and some are electives.
1) formal 2) essential 3) mandatory 4) instructional

122- Surgery has traditionally been a medical practice that required invasive ------————- to treat
various illnesses and health conditions.
1) diagnoses 2) procedures 3) stratagems 4) remedies

123- Scientist are convinced that the earth’s temperature is rising and place the -——————- on the
buildup of greenhouse gases in the atmosphere.
1) blame 2) destiny 3) catastrophe 4) deficiency

124- The report was relentlessly hostile to the scientist, - one complex event after another
to his discredit.
1) adoring 2) incurring 3) intcrpreting 4) compcensating

125- Because of its strength, adhesiveness, and --------—-- qualities as a nest-building material,
many species of birds incorporate silk into their nests.
1) widespread 2) imaginary 3) coopcrative 4) invaluablc

Part C: Sentence Structure

Directions: Choose the sentence with the best word order for each of the following series. Then
mark the correct choice on your answer sheet.

126-
1) Identified by their long necks and powerful shoulders, polar bears that make them
excellent swimmers.
2) By their long necks and powerful shoulders polar bears are identified that make them
excellent swimmers.
3) Polar bears are identilied by their long necks and powerlul shoulders that make them
cxcellent swimmers.
4) Their long necks and powerful shoulders identify polar bears that make them excellent
swimmcrs.
127-
1) The malc honeybees generally do not work, but receive food from the workers until it 1s
time for them to mate.
2) The male honeybees generally do not work, but receive food from the workers until
time it is to mate for them.
3) The male honeybees generally do not work, until it is time for them to mate, but receive
food [rom the workers.
4) The malc honcybees gencerally do not work, then when it is time for them to mate, they
receive food from the workers.
128-

1) The steam train and the steamboat made possible by the invention of the steam engine
was revolutionized.

2) The invention of the steam engine revolutionized transportation by making possible
the steam train and the steamboat.

3) By making possible the steam train and the steamboat, transportation the inventing of
the steam engine revolutionized.

4) The steam engine which was invented il revolutionized transportation by making the
steam train and the steamboat possible.
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129-

1) The electron, a negatively charged subatomic particle, was discovered in 1897,

2) The electron, a subatomic particle is negatively charged, was discovered in 1897.

3) The electron, a particle subatomic which 1s charged negatively, was discovered in

1897.

4) The electron, which a negatively charged subatomic particle, was discovered in 1897,
130-

1) The loss of her brother was understandable and given her sorrow.,

2) Her sorrow was understandable given the loss of her brother.

3) ller sorrow was understandable the loss of her brother given.

4) Her brother loss was understandable, given her sorrow.

Part D: Language Functions
Directions: Read the following conversations between two people and choose the answer choice (1),

(2), (3), or (4) that best completes the blank in the conversations. Then mark the correct choice on
your answer sheet.

A: “Can you loan me $1,000 to pay my rent this month?”
B: “No, (131) —————--- e
131- 1) ’m afraid 2) Never mind 3) You bet on it 4) Let’s go with that

A:You’re asking $8,000 for it? OK. It's a nice car, but it’s a two-door car and 1 was hoping
to buy a four-door.

B: A car like this is going to sell quickly. I’d hate for you to (132) ---—-—--- .

A: Pll save you $7,000.

B: Let’s (133) --=-=====- the difference. If you can make it $7,500, you’ve got a deal.
132- 1) pull out 2) take out 3) miss out 4) hang out
133- 1) make 2) leave 3) see 4) split

A: Hi, I bought this camera here yesterday, and it’s not working.

B: Did you charge the battery and put it in correctly?

A: Yes. I followed the directions (134) ———---—-- .

B: Do you mind if I take a crack at it?

A: (135) - .

B: T usually have the magic touch ... Hmmm, you’re right. It doesn't work. Would you like
a replacement?

134- 1) so-so 2) to the letter

3) just in case 4) like a piece of cake
135- 1) It’s no wonder 2) Be my guest

3) Tt looks familiar 4) Tt takes your breath

A: 1 was wondering if you could turn down the music. Loud music in restaurants is a pet
peeve of mine.

B: Sure, (136) -—===---- .
136- 1) I’'ll takc carc of that 2) I can’t stand thc pacc
3) Il be back on my feet 4) it’s off the top of my head

A: The pasta was good, but now I’'m stuffcd!
Bt (137) memmmmeeme.
137- 1) I’'ll Iet you relax for a while before bringing the dessert menu
2) Okay, then let me bring the dessert menu right away
3) Your eyes are bigger than your stomach
4) I’'m sorry you didn’t get enough to cat
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138-
139-

140-

: Primary Medical Group. How may I help you?

: I’d like to make an appointment with Dr. Feinberg.

: Your name?

: Grace Lee.

: What’s the (138) -—------- of your visit?

: 1 think I’ve eome down with the flu.

: We have an opening tomorrow at three.

: (139) -—-—-——-. I’'m rcally sick!

: Well, unfortunately, Dr. Feinberg is booked solid today. If he were free at all, 1 would
squecze you in.

s> E

1) core 2) case 3) nature 4) matler
1) You’rc welcome 2) My hands arc ticd
3) T can’t wait that long 4) Don’t stand on ceremony with me

A: Bad news. Jake and Mary can’t make it to your dinner party tomorrow night.
B: What a shame! (140) -——-—--—-- ?

A: Yes. It turns out they have a dinner at Jake’s boss’s house tomorrow night.

1) Did anything comc up 2) May I help you

3) Are you kidding me 4) How about a change of plans

Part E: Cloze Test

Directions: Questions 141-155 are related to the following passage. Read the passage and decide
which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheel.

141-
142-

143-
144-
145-
146-
147-

148-

149-

The rapid incrcasc in global urbanization constitutcs onc of thc grcatcst issucs
(141) —mmmmemm- thc world in thc coming dccades. It is cstimatcd that the global urban
population will double over the next 30 years. The most (142) ---------- of the world are
to be found in the developing world. Cities in these counties are rapidly transforming
nto mcga citics—massive conurbations (143) ——--—------ morc than 20 million pcople.

The rapid (144) ---------- of these citics is a reflection of the considerable cconomic
growth in these newly developing economies. The absence of (145) ---------- such as
roads and water supply in many cities (146) -------—-- to a lower quality of life for their
citizens. In many cities, it has resulted in (147) --—-—--—-—-- large-scale slums and shanty
towns. Furthcrmore, the impact of ever-increasing demand for cnergy, food, goods, and
(148) ---------- by urban populations is causing degradation of the surrounding
environment, (149) ---------- in turn worsens the migration of rural populations.

On the other hand, urbanization can also have a positive (150) -——-—-—--—--- . Countries
with highly urbanized populations tend to have a generally higher standard
(151) -=----——-- and their economies are more stable. Cities can (152) ---------- education,
health care, and other services more efficiently than rural areas (153) -------- their
advantages of scale and proximity. In both developed and developing countries, cities
generate the most wealth and provide extensive opportunities for employment and
investment. However, evidence (154) ---------—- that the prosperity generated by cities does
not automatically reduce poverty; (155) ---------- , in many cities, inequalities between the
rich and the poor have increased.

1) to be facing 2) are facing 3) face 4) facing

1) rapidly urbanizing regions 2) regions urbanizing rapidly

3) urbanized regions rapidly 4) regions rapidly urbanizing

1) in 2)of 3) lor 4) [rom

1) issue 2) danger 3) growth 4) likelihood
1) access 2) progrcssion 3) development 4) infrastructurc
1) Icad 2) lcads 3) to Icad 4) which Icad
1) emerging 2) emerging of

3) the emergence of 4) the emerging

1) arc othcer resourccs 2) there arc other resources

3) othcer resourccs 4) othcr resourccs arc

1) which 2) that it 3) that 4) it
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150-
151-
152-
153-
154-
155-

1) merit 2) impact 3) approach 4) analysis

1) of living 2) to live 3) is living 4) whose living
1) display 2) surround 3) consume 4) deliver

1) because of 2) in spitc of 3) rcgardless of 4) sincc

1) recommends 2) commands 3) expecls 4) suggesls

1) unless 2) although 3) whether 4) on the contrary

Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

156-

157-

158-

159-

PASSAGE 1I:

National Park in India 1s home to two of thc world’s most cndangcred spccies: the tiger
and the single-horned rhino. Photographer Steve Winter and writer Douglas Chadwick
had only been working there a few days when they had a rather frightening close shave
with some rhinos.

They were driving into the park to start filming, when their guide stopped the jeep to
move a turtle from the middle of the road just ahead of them. Winter, Chadwick and
their guard got out to stretch their legs and watch. But when Chadwick turned to look up
the road, he saw something terrible.

About 50 meters away, a rhino was charging at them. Rhinos can sprint at more than
40 kilometers an hour, so therec was no time to leap back in the car. Instinctively, the
guard [ired a shot into the ground just in [roni of the rhino. The crack of the rifle and the
dirt that the bullet kicked up was enough to distract their attacker and he veered off into
the grass seconds before reaching them.

Shakcen, but rclicved the incident had not been worse, they drove on. As they were
entering the lorest area on a raised section of road, three young rhinos climbed onto the
road in front of them. The jeep stopped hurriedly, but this time the animals seemed
uninterested and disappeared into the forest. Just then, however, the mother of the three,
who had been keeping an cyc on her young, came crashing through the trees from their
left. No time to shoot this time. The female rhino slammed into the side of the jeep and
started to wrestle it off the road. Indian rhinos don’t use their horns in a fight; instead
they bite and this female’s teeth were gouging deep into the side of the jeep.

It can be inferred from the passage that the tiger and the single-horned rhino —-—---—- .

1) causc thc most danger to thosc visiting the National Park in India

2) are some animal species that might go extinct, il not protected

3) cannot be found anywhere in India except in a confined area

4) compctc with onc anothcr for survival

What did Chadwick look at in fright when he got out of the car to relax a bit?

1) A ferocious animal attacking him and those accompanying him

2) Their guard shooting an animal that had blocked the road

3) A rhino escaping into the grass close to them

4) A turtle lying in front of their jccp

Why has the author referred to the fact that rhinos can sprint at more than 40 kilometers an

hour?

1) To cxpress surprisc at the running speed of such big animals

2) To show that just as animals follow their instincts so humans may act irrationally at times

3) To prove that human intellect can easily outsmart animals no matter how fast and
dangerous they are

4) To explain why the guard fired a shot into the ground just in front of the rhino instead of
getting into the car

Which of the following best describes the three young rhinos’ reaction to the presence of

Steve Winter and Douglas Chadwick and their guide?

1) Curiosity 2) Dclight 3) Indiftcrence 4) Affability



160-

161-

162-

163-

Which of the following is true about the female rhino mentioned in paragraph 3?
1) She was not alraid ol gunshots.

2) She pushed the jeep oft the road.

3) She made an attack to let her young run away.

4) She unexpectedly used her horns in the fight she started.

PASSAGE 2:

Something momentous happened in conservation circles last month in Ecuador. At the
UN Convention on Migratory Species conlerence, a resolution was passed recognizing
that some social mammals have culture. Sure, the idea of non-human culture has been
around for years. But this is the first time that it has been formally recognized by an
intcrnational trcaty. And beyond acknowledging that it isn’t just humans that havc
socially learned traditions, this treaty opens up a new frontier for efforts to conserve
social spccics.

What is non-human culturc? A popular dcfinition is information or a
behavior—shared by population or subpopulation—acquired from others of the same
specics via social lcarning. What this mcans for conscrvation, which often treats a
species as homogeneous, is that culture can create boundaries between social groups,
affecting behavior, gene flow and resource use.

In 1975 sociobiologist E. O. Wilson cxplaincd the influcnce of social structurc on

fitness, gene flow and spatial patterns in some species. Deeper understanding only
startcd to cmerge in the past decade, and wildlifc policy has been slow to catch up.
The new resolution recognizes both positive and negative consequences of non-human
culture. Individuals passing on knowledge may increase population viability by allowing
the rapid spread of innovations amid environmental challenges, which could mean more
resilient social groups. On the other hand, the eflects of human-induced threats may be
amplified by the presence of non-human culture. How so? The type of threat and the
type of society is important.

What does the word “it” in paragraph 1 refer to?

1) trcaty 2) UN Convention

3) culturc 4) idca of non-human culturc

It can be understood from the passage that the belief that some animal species have

culture -------—--—- .

1) 1s more likely to bring more damage than benefit to them

2) was not cntircly ncw before the UN Convention on Migratory Specics confcrence

3) made wildlife policy makers around the world quickly change their wildlife protection
approaches

4) may lcad to an incrcascd level of population viability among animal spccics with a
supposedly strong social culture

Why does the author mention sociobiologist E. O. Wilson in paragraph 3?

1) To lend credence to a point raised in paragraph 2

2) To shed more light on the delinition of non-human culture

3) To discuss the consequences of the acceptance of non-human cultures

4) To explain what is meant by fitness, gene flow and spatial patterns

According to paragraph 4, more resilient social groups directly stem from --------—-—-,
1) environmental challenges 2) increased population viability
3) rapid spread of innovations 4) individuals passing on knowledge

The passage would most probably continue with a discussion of -——-—---—-—-- .

1) how a non-human culture emerges in the course of time

2) the similarities between human societies and those of animal species that are believed to
possess culture

3) some variables having a bearing on the relationship between the presence of
non-human culture and the effects of human-induced threats

4) the reasons why human-induced threats are likely to affect non-human cultures both
positively and ncgatively
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166-

167-

168-

169-

170-

PASSAGE 3:

The [ood industry loves a buzzword. And, increasingly, those buzzwords revolve around
health. Hcalthy cating is big busincss—why do you think cverything is labeled as high
protcin these days? But while protcin content is objcctive, there is no official definition
of a “superfood” and the EU has thankfully banned health claims on packaging, unless
they are supported by scientific evidence.

However, that hasn’t stopped many food brands from funding research to help
promote the health benefils ol their product. For example, i you see a headline
proclaiming the health benefits of bananas, chances arc the rescarch was funded by some
strangc organization likc thc British Banana Council. They’re susceptible to bias,
basically.

The idea that there are ingredients that vastly outperform other foods, and can
somehow stave off cancer, heart disease and other major health concerns is
misleading—il not a complete lie. Sadly, some people want to believe that eating a certain
fruit or vegetable containing an antioxidant or essential fatty acid is a health panacea that
can offset the effects of their Dominoes or their missed spin session.

The problem is that most research on superfoods tests chemicals and extracts in
concentrations not found in the food in its natural state. In short: they’re good for you,
ycs, but to curb cancer you’d have to cat them by the wheclbarrow full.

The main [oods, though, that have been elevated to superfood status in recent years
are those rich in antioxidants. Antioxidants are chemicals thought to protect us against
the harmful cffects of frec radicals, which arc chemicals naturally produccd in cvery
living cell and known to cause cell damage—linked to ageing and disease development.
However, evidence about this and other health benefits of antioxidants is inconclusive.
A revicw of the rescarch into this topic in 2011 by the Europcan Food Safcty Authority
(EFSA) found no cvidence that the antioxidant action on free radicals obscrved i the lab
was of any benefit to human health. Sorry to burst your bubble.

What is the primary purpose of the passage?

1) To promote health products

2) To criticize people’s credulity

3) To correct a misunderstanding

4) To admonish scientists for their carelessness

Which of the following best describes the function of paragraph 2 in relation to

paragraph 1?

1) Paragraph 2 shows that even the EU precautionary regulation is often neutralized in some
way.

2) Paragraph 2 purports to demonstrate that thc EU mcasurc, as described in paragraph 1, 1s
just beginning to bear fruits.

3) Paragraph 2 calls into qucstion the sinccrity of the EU which, according to paragraph 1,
seemingly intends to prevent fraud.

4) Paragraph 2 is intended to show the positive effect of EU monitoring, mentioned in
paragraph 1, on the companies promoting food brands.

The phrase “stave off” in paragraph 3 could best be replaced by ----——--—-- .

1) curc 2) diagnosc 3) dcter 4) trigger

According to paragraph 4, vyou can hope to prevemt cancer when you eat allegedly

beneficial superfoods ----==----,

1) undcr tightly controlled laboratory conditions

2) only after they have been well researched

3) in their natural state only

4) in very great quantities

Which of the following best describes the authors’ attitude towards the positive effect

which antioxidants are said to have?

1) Amusement 2) Astonishment

3) Skepticism 4) Pointcd disagrecment
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101-

102-

103-

104-

105-

106-

107-

108-

109-

110-

111-

112-

113-

116-

117-

118-

119-

Teil A: Grammatik

Er —————--——-nichts von der Tdee, mit der Firma Touri zu verhandeln,

1) hielt 2) haltet 3) hielte 4) haltete
Der Mann hinter der Theke horte sich an, ---------- er eine Erkiiltung hatte.

1) als ob 2) damit 3) sodass 4) obwohl
Alle Flugpassagicre --———----— ihr Handgepéck von den Beamten kontrollicren lassen.
1) diirfen 2) wollen 3) konnen 4) miissen
Trotz grofien Interesses hat Thomas an -----—-—-—- Diskussion nicht teilgenommen.
1) dic 2) der 3) den 4) dem
Gebithren sind ——--—-—-—— , dic fiir cine in Anspruch genommene Leistung zu zahlen sind.
1) Betrage 2) Betragen 3) Betrige 4) Betriger
Mcin Kollege hat mich ------—-——- gcheten, ihn ¢in paar Tage zu vertreten.

1) darauf 2) davon 3) darum 4) dartiber
In welchem Tempus steht der Satz ,,Ich habe die niotigen Biicher gekauft*“?

1) Futur | 2) Perfckt 3) Préscns 4) Prétcritum
Sie kann Klavier spielen, ---————- jemals einen Kurs besucht zu haben.

1) um 2) statt 3) ohne 4) auller

Der Satz ,Wenn ich ihn doch gestern getroffen hiitte!* ist eim irrealer -———---——- .
1) Wunschsatz 2) Aussagesatz

3) Bedingungssatz 4) Vergleichssatz

Welche der Priipositionen steht nur mit Genitiv?

1) laut 2) unter 3) gegeniiber 4) aulgrund
Gisclas Mutter hat den Kuchen --—-—- — fiinf Stiicke getcilt.

1)in 2) um 3) auf 4) iiber

Er hat ————-—-—- gedroht, nicht linger mit mir zusammenzuarbeiten.

1) ich 2) mir 3) mich 4) mein

Ich freue mich auf ein --—--—---- Dialog mit Thnen iiber unsere Zusammenarbeit.
1) — intcressanter 2) —c intcressante

3) — intcressantcs 4) —cn intcressanten

Bei welchem handelt es sich um den Komparativ des Adjektivs ,,kalt*?

1) am kaltesten 2) kalteste 3) kalter 4) kalter
Finden Sie im Text alle Stellen, in -----—-- ein unregelméfBiges Verb vorkommt!
1) der 2) deren 3) dessen 4) denen

Teil B: Vokabeln

Er hat mich beschuldigt, ihn ---------- zu haben.

1) belohnt 2) gesehen 3) beleidigt 4) enttduscht

Beim Flugunfall hat der automatische --——--—--——- versagt und das Flugzeug ist abgestiirzt,
1) Pilot 2) Fahrer 3) Kapitin 4) Schiffer

Ich wohne auf der obersten ---—----- eines viergeschossigen Hauses.

1) Seite 2) Etage 3) Ebene 4) Stufe

Wenn die Temperatur unter null Grad fillt, --—---—-—-- das Wasser.

1) glianzt 2) fliefit 3) gefriert 4) tropft
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120- Dic alte Frau ist -———--—-- , dass ihre Kinder alle in der Ndhe wohnen.

1) froh 2) besorgt 3) traurig 4) enttduscht
121- Ich bin in =====-==-- , ich muss den Zug nach Wiesbaden erreichen.

1) Eile 2) Haft 3) Sicht 4) Armut
122- Er verlor seinen Job und ist jetzt ---—--—--- abhiingig von seinen Eltern.

1) sozial 2) emotional 3) korperlich 4) finanziell
123- Wie lange hat es gedauert, ihn zu beruhigen? Er war s0 ====-==--- !

1) stolz 2) schwach 3) gliicklich 4) aufgeregt
124- Gloria war sehr -------—-—- auf sich selbst, weil sie niemals Geldsorgen hatte.

1) bose 2) stolz 3) neidisch 4) gespannt
125- Dic Familic ist gliicklich iiber den -----—--—- ihres Sohnes. Er ist ¢cin berithmter Anwalt,

1) Arger 2) Unfall 3) Erfolg 4) Verlust
126- Sind Sie mit Herrn Miiller bekannt? — Nein, ich bin ihm nie ---------- .

1) bose 2) gefolgt 3) begegnet 4) aufgefallen
127- Dieses kleine afrikanische Land ist -----—-—- an Kohle und Eisen. Sie werden importiert.

1) arm 2) reich 3) schuld 4) schlimm
128- Du kannst dich auf ihn verlassen. Er ist ein ----—--- Mensch.

1) naiver 2) boshafter 3) gesunder 4) aufrichtiger
129- Der neu gewiihlte Prisident ---------- sein Amt zum 1. Oktober 2015 an.

1) ruft 2) tritt 3) greift 4) droht
130- Thre ncue Armbanduhr ist aus recinem Gold. Si¢ --—----—--- ¢in Haufen Geld!

1) zihlt 2) misst 3) kostet 4) rechnet

Teil C: Wortreihenfolge
Ordnen Sie die Worter zu einem grammatikalisch und inhaltlich korrekten Satz!

131- schnell / arbeitswillig / finden / wer / eine Stelle / sein / heute
1) Wer ist schnell arbeitswillig, findet eme Stelle heute.
2) Wer arbeitswillig ist, findet heute schnell cine Stelle.
3) Wer arbeitswillig ist heute, findet eine Stelle schnell.
4) Wer findet heute schnell eine Stelle, ist arbeitswillig.
132- packen / seine Jacke / der Kragen / an / haben / er / der Polizist
1) Am Kragen seiner Jacke hat thm der Polizist gepackt.
2) Thm hat am Kragen seiner Jacke der Polizist gepackt.
3) Dcr Polizist hat ihn gepackt am Kragen sciner Jacke.
4) Der Polizist hat ihn am Kragen seiner Jacke gepackt.
133- Shiraz / mitbringen / eine Vase / schon / ihre Tante / sie / aus
1) Ihrc Tantc aus Shiraz hatte sic cinc schone Vasc mitgebracht.
2) lhre Tante hatte sie aus Shiraz eine schone Vase mitgebracht.
3) Sie hatte eine schone Vase mitgebracht ihrer Tante aus Shiraz.
4) Sie hatte ihrer Tante eine schéne Vase aus Shiraz mitgebracht.
134- hinter / zuschlagen / sich / die Tiir / er / wiitend
1) Wiitend schlug hinter sich er die Tiir zu.
2) Wiitend er schlug die Tiir hinter sich zu.
3) Wiitend schlug er die Tiir hinter sich zu.
4) Er schlug zu wiitend dic Tiir hinter sich.
135- warum / endlich / begreifen / ich / haben / es / tun / sie / wollen
1) Ich habe endlich begriffen, warum sie es tun wollte.
2) Tch habe sic endlich begriffen, warum ¢s tun wollte.
3) Warum habe ich endlich begriffen, sie wollte es tun?
4) Sie hat begriffen endlich, warum ich es tun wollte.



Faxino 541-A (el Sl b

136-
137-
138-
139-
140-
141-
142-
143-
144-
145-
146-
147-
148-
149-
150-

Teil C: Liickentext
Erginzen Sie den Text mit den richtigen Auswahlmaoglichkeiten!

Ein junger Arbcitsloscr in Stuttgart bckommt vom Arbeitsamt kein Geld. (136) ------- ?
Den Beamten dort (137) ---------- seine Frisur nicht. ,,In Stuttgart habe nur ich diese
Frisur*, sagt Heinz. Das gefillt (138) ---------- . Das Arbeitsamt in Stuttgart hat aber eine
andere (139) ---------- . Heinz bekommt kein Arbeitslosengeld und keine Stellenangebote.
Ein Angestclltcr im Arbceitsamt hat zu ihm gesagt: ,,Machen Sic sich cine (140) ----------
Frisur. Dann konnen Sie wiederkommen.® Ein anderer Angestellter (141) ---------- :
,,Herr Kuhlmann sabotiert die Stellensuche.” Aber Heinz moéchte arbeiten. Sein fritherer
(142) --==mmmm- , die Firma Kodak, war sehr (143) ---------- mit ihm. Nur die
Arbcitskollcgen haben thm das Leben schwer (144) ---------- , sic haben ithn immer (145)
---------- . Deshalb hat er (146) ----------.

Bis jetzt hat er keine neue Stelle gefunden. Die meisten Jobs sind nicht flir
(147) --=------- , das weil} er auch: ,,Verkduler in einer Buchhandlung, das geht nicht.
Dafiir bin ich nicht das (148) ---------- Typ.“ Heinz fiihrt (149) ---—------ das Arbcitsamt
jetzt einen Prozess. Sein Rechtsanwalt sagt: ,,Auch ein arbeitsloser Punk muss Geld vom
Arbeitsamt bekommen.” Heinz Kuhlmann lebt jetzt von ein paar Mark.
(150) ---—------ gibt ihm sein Vater.

1) Wann 2) Womit 3) Wie viel 4) Warum

1) gentigt 2) gefillt 3) hilft 4) gilt

1) ihr 2)er 3) ihm 4) ihnen

1) Wahl 2) Qualitit 3) Herkunft 4) Meinung
1) normale 2) schicke 3) komische 4) perfekte
1) droht 2) mcint 3) fordert 4) begriilt

1) Frcund 2) Schiiler 3) Mitarbciter 4) Arbcitgcber
1) grob 2) offen 3) streng 4) zufrieden
1) gemacht 2) geschafft 3) gehalten 4) gestellt

1) geweckt 2) gcérgert 3) gestirkt 4) beschiitzt
1) gekiindigt 2) gestohlen 3) gekampft 4) gewonnen
1) er 2) ihn 3) dich 4) ihnen

1) einfache 2) normale 3) richtige 4) schlanke
1) fiir 2) auf 3) gegen 4) cntlang

1) Die 2) Den 3) Dem 4) Der

Teil D: Leseverstehen

Text 1:

Aristotcles war cin Philosoph aus dem Norden von Gricchenland und Iebte 1m 4.
Jahrhundert vor Chr. Wic Sokrates und Platon war cr cin besonders wichtiger Denker
aus dem alten Europa. Sein Vater war ein reicher Arzt und bezahlte seine Ausbildung an
der Philosophenschule Platons. Nach Platons Tod verlie3 Aristoteles Athen. Spiter
wurde Aristoteles Erzicher des Konigssohns von Makedonicen. Dicser Konigssohn war
Alexander der GrofBle. Der Einfluss seines Lehrers ist aber im Verhalten des spéteren
Eroberers nicht erkennbar. Spater griindete Aristoteles seine eigene Schule. Diese nannte
er Lykeion. Sie wurde auch Wanderschule genannt, weil Schiiler und Lehrer oft beim
Herumgehen sprachen. Heute noch ist Lyzcum cin Ausdruck fiir cinc héhere Schule.
Aristoteles galt bis ins Mittelalter als Vorbild fiir viel Gelehrte. Wie Sokrates wurde auch
Aristoteles wegen Blasphemie angeklagt. Er befiirchtete von den Athenern deshalb zum
Tode verurteilt zu werden, genauso wie vorher Sokrates. Um nicht ebenfalls verurteilt zu
werden, floh cr aufs Land. Dcer Mcnsch war fiir ihn cin politischcs Wesen, das ohnc
Gesellschaft nicht leben kann. Fiir Aristoteles war die Frau jedoch ein minderwertiger
Mann. Aristoteles machte sich auch Gedanken dariuber, was der Mensch zum Glick
braucht. Seiner Meinung nach wird der Mensch nur gliicklich, wenn er alle seine
Moglichkeiten entfalten kann.
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Einst floh Aristoteles aus Athen, weil cr Angst hatte, dort wegen --——————- zum Todc
verurteilt zu werden.

1) Mordes 2) Ehebruchs

3) Drogenhandels 4) Gotteslasterung

Was war der Vater von Aristoteles von Beruf?

1) Philosoph 2) Mediziner 3) Politiker 4) Erzieher

Welche Vorstellung hatte Aristoteles von Frauen? Fiir ihn waren die Frauen ---------- .

1) schwach und feige 2) ungeeignet fiir Politik

3) herausragende Kampferinnen 4) unbedeutend und minderwertig

Wie findet der Verfasser den Einfluss der Lehren Aristoteles auf das Verhalten von
Alexandcer dem Grofien?

1) teilweise enorm  2) kaum spiirbar 3) nachhaltig 4) gelahrlich

Welche Titigkeit iibte Aristoteles am Hof des makedonischen Konigs aus? Er war

1) Arzt 2) Erzieher 3) Schreiber 4) Laufbursche
Ist ein Mensch nicht in der Lage, alle seine Fihigkeiten zu entfalten, ist er aus der Sicht
des Aristoteles ein -——-—-—--—-- Mensch.

1) tiberfliissiger 2) ungeschickter

3) ungliicklicher 4) durchschnittlicher

Welche Feststellung iiber Aristoteles trifft nicht zu? Er --——------ .

1) hatte seine eigene Schule 2) lebte vor tiber 2000 Jahren

3) war ein Schiiler von Sokrates 4) kam aus einer reichen Familie
Text 2:

Der Himalaya 1st das hdchste Gebirge der Well. Es liegt in Asien zwischen Indien und
China. Hier gibt es mehrere Berge, die mehr als 8000 Meter hoch sind, darunter auch der
hochste Berg der Erde: Der Mount Everest ist 8848 Meter hoch. Wie die meisten
Hochgebirge 1st auch der Himalaya em Faltengebirge. Er entstand, weil der indische
Subkontinent schon scit langer Zcit mit ungchcurcr Kraft gecgen Asien driickt. Dabei
wird dic Erdkrustc wic cin Tischtuch in Falten gelegt und nach oben gedriickt.
Manchmal kommt es dabei auch zu schweren Erdbeben, wie vor einigen Jahren in
Nepal. Wegen der groflen Hohe ist es im Himalaya sehr kalt, der Boden ist meist felsig
und zu groBen Teilen das ganze Jahr von Eis und Schnee bedeckt. Die Berge wirken
auflerdem wie eine natlirliche Barriere gegen den feuchten Monsunwind vom Indischen
Ozean. Deshalb regnet es im Siiden des Himalaya sehr viel, und es kommt dort oft 7u
Uberschwemmungen. Auf der anderen Seite, im Hochland von Tibet ist es dagegen sehr
trocken. Fiir die Einheimischen waren die Berge des Himalaya lange Zeil heilig und
wurden so gut wie nie betreten. Seit dem 19. Jahrhundert kommen aber immer mehr
Forscher und Abenteurer aus Europa und Nordamerika hierher, um die Gipfel zu
erklettern. Das 1st sehr gefdhrlich, und schon viele sind dabei ums Leben gekommen.

Wihrend auf der einen Seite des Himalaya zu Uberflutungen kommt, ist das Klima auf
der anderen Seite sehr ---=--=--- .

1) feucht 2) trocke 3) regnerisch 4) wechselhaft
Woelches Ercignis ist vor wenigen Jahren in Nepal passicrt?
1) Diirre 2) Erdbeben 3) Kiltewelle 4) Ilochwasser

Warum wollten dic Einhcimischen dic Berge Himalayas nicht betrcten? Weil sic dachten,
die Berge seien =--------- .

1) heilig 2) versperrt 3) gefahrlich 4) unbctahrbar

Wo liegt das Hochland von Tibet? Im ----—--—---- des Himalaya.

1) Osten 2) Siiden 3) Westen 4) Norden
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Welche Feststellung iiber den Himalaya trifft nicht zu? Der Himalaya --——-——-.
1) ist ein Faltengebirge 2) hat einen felsigen Boden

3) ist der hochste Berg der Welt 4) liegt in Asien, im Siiden Tibets
Laut Text brachte das Erklettern der Gipfel vom Himalaya bisher -------—---,

1) viele Opfer 2) manche Vorteile

3) die Forscher um 1hr Geld 4) keine brauchbaren Ergebnisse
Text 3:

Heidelberg ist cine der wenigen deutschen GroBstadte, dic im Zwceiten Weltkrieg nicht
zerstort wurden. Berithmt ist 1lcidelberg fiir cinc Ruine: das Llcidclberger Schloss. Es
wurde durch Kricg und Blitzschlag zerstdort und von scinen Bewohnern aufgegeben.
Doch im 18. Jahrhundert wurde es als romantische Ruine bewundert. Deshalb war die
Frage, ob cs wicderhergestellt werden solle, auch heftig umstritten. Dic Gegend um
Heidelberg war schon seit Hunderttausenden von Jahren besiedelt. Dies beweist ein
Unterkieferknochen des so genannten Heidelbergmenschen, einem Vorfahren des
Neandertalers. Im Altertum siedelien Kelten im Gebiet des heutigen Heidelbergs. Spater
besetzten es die Romer. Schriftlich erwihnt wurde Heidelberg aber erst im Jahr 1196. Im
Spétmittclalter war llcidclberg dic Residenz cines Kurfiirsten. Kurflirsten warcn dic
siecben Herrscher, die den Kaiser wihlten. Die Universitit Heidelberg wurde 1386
gegrindcet und ist damit dic dltestc Universitdt in Dcutschland. Studenten hatten vom
Mittelalter bis in die Neuzeit einen Sonderstatus. Bei Straftaten wurden sie deshalb nicht
der Polizei libergeben, sondern im- Studentenkarzer, einem Gefingnis flir Studenten,
eingesperrt. Im Lauf der Zeit empfanden manche Studenten das als witzig und taten
alles, um dort auch einmal eingeschlossen zu werden. Sie amiisierten sich dort und
bekritzelten die Winde mit Graffitis, die man heute noch bestaunen kann.

Welcher Begriff ist gleichbedeutend mit ,,Karzer® im ,,Studentenkarzer«?

1) Arrestraum 2) Speiseraum

3) Waschraum 4) Umkleideraum

Wofiir ist laut Text die Stadt Heidelberg berithmt? Fir ---------- .

1) ihre altc Universitat 2) das Heidelberger Schloss

3) die Toleranz ihrer Bewohner 4) ihre Lebensmittelspezialititen

Wann tauchte zum crsten Mal der Name Heidelberg in schriftlichen Texten auf?

1) In der Antike 2) Im Jahre 1386

3) Im Spitmittelalter 4) Im 12. Jahrhundert

Wer hatte laut Text das Recht den Kaiser zu wihlen? Ein --—-——- .

1) Graf 2) Ritter 3) Herzog 4) Kurfiirst
Welches Volk bewohnte das Gebiet des heutigen Heidelbergs im Altertum? Die -—--——-.
1) Kelten 2) Finnen 3) Slawen 4) Germanen

Dic Universitat Heidclberg ist die alteste Universitit =—---=---- ;

1) Europas 2) der Welt 3) Osterrcichs 4) in Dcutschland
Was versteht man unter dem Begriff ,,Graffiti¢?

1) Das schwarze Brett 2) Die bunten Farbstifte

3) Spriiche an den Mauem 4) Eine Art scharfes Messer
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Partie A: Structure
Complétez les phrases suivantes en cochant la réponse correcte:

101- ————-- caf¢ ou nous allons chaque matin cst trés connu.

1) Le 2) Un 3) DU 4) De
102- Vous ---—-—— quelle robe? La rouge ou la bleue?

1) choisit 2) choisissicz 3) choisisscz 4) avez choisi
103- Notre ---—--——-- assemblée aura lieu dans 'amphithéatre.

1) prochain 2) prochains 3) prochaines 4) prochaine
104- Nous avons --------—— travaillé pour aujourd'hui. Faisons une pause!

1) autant 2) assez 3) tant 4) tres
105- Enfin! Vous étes 12! Nous pensions que vous ---------- perdus.

1) étiez 2) serez 3) avez été 4) aviez été
106- Pour les vacances, ---------— hiver nous avons loué un chalet a la montagne.

1) ce 2) cet 3) cette 4) ces
107- Lec dictionnaire ---—----—-—-- j'ai besoin pour traduire n'est pas disponible a la bibliothcque.

1) ou 2) qui 3) que 4) dont
108- Si j'avais plus d'argent, j'-—-—-—-—-- unc voiturc plus confortable.

1) achcte 2) achctais 3) achcterai 4) achctcrais
109- La musicienne que tu as ---—--- jouer est celéebre dans son pays.

1) entendu 2) entendus 3) entendue 4) entendues
110- Il est nécessaire que nous ---------- notre environnement plus sérieusement.

1) protégeons 2) protégions

3) protégerons 4) aurions protcge
111- Ily a une télévision dans ---------- chambre de cet hotel.

1) aucun 2) chaque 3) quelques 4) plusieurs
112- J'ai un ami qui joue trés bien -————- guitare classique.

1) par 2)ala 3)dela 4) sur la
113- J'aimerais que le gouvernement --------——- plus d'action en faveur de I'agriculture bio.

1) entreprend 2) entreprendra

3) entreprennc 4) cntrcprendrait
114- Elle aime beaucoup les jupes longues; elle ---------- a acheté une noire.

nHr 2)y 3) les 4) en
115- La premiére fois que j'ai pris le métro a Paris, je --————.

1) me suis perdu 2) a1 perdu

3) mc perds 4) suis perdu
116- Lc professcur dit qu'il --——------- l¢s résultats dans unc semainc.

1) affiche 2) a affiché 3) afficherait 4) affichera
117- --——--—--— vous étes pressé, partez sans moi.

1) Commec 2) Puis quc 3) Parcc quc 4) A causc quc
118- J'ai trés mal aux dents; j'irai chez le dentiste ---—--—-—-—-—- demain.

1) dés 2) dans 3) depuis 4) pendant
119- ---———--— la vitesse soit limitée sur les routes, il y a encore beaucoup d'accidents.

1) Bien que 2) Méme si 3) Quoi que 4) Malgré
120- Lecs fruits frais sont ====------ quec les fruits en conscrve.

1) meilleurs 2) les mieux 3) les meilleurs 4) les meilleures
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Partie B: Vocabulaire
Complétez les phrases suivantes en cochant la réponse correcte:

Zidanc ----——- lc Recal de Madrid pour la prochainc saison.

1) trouvera 2) connaitra 3) reconnaitra 4) retrouvera

Le métier d' -—--—---—--- consiste a acquérir, restaurer et vendre des objets d'art anciens.

1) artistc 2) historicn 3) antiquairc 4) arch¢ologuc
Lorsqu'on arrange un appartement pour habiter, on ====---=-- .

1) ménage 2) aménage 3) déménage 4) emménage

La petite a ouvert la porte aux voleurs car leur voix lui était bien --------—-,

1) famille 2) familiale 3) familiere 4) familiarité

Qui est a la fois le pére de ma mere et le pere de ma tante?

1) mon pére 2) mon oncle

3) mon parrain 4) mon grand-pere

Dans une grande école, compte tenu du nombre important de ---------- il est difficile de
réussir au concours.

1) participants 2) candidats 3) étudiants 4) coureurs

----—--— portc cn général un blcu de travail.

1) Lc me¢decin 2) Lc boucher

3) L'agriculteur 4) Le boulanger

Les médecins touchent des ---------- en échange de leurs services.

1) soldes 2) salaires 3) honoraires 4) appointements

11 a fait faillitc; il a tout perdu, il a méme mis unc hypoth¢quc sur sa maison. Je veux dire

qu'il a des ~————--.

1) dettes 2) préts 3) épargnes 4) emprunts

Le sport qui se pratique dans l'eau est --—---—---- 5

1) Ic canoc 2) I'cscrime 3) l'alpinisme 4) I'¢quitation

La personne qui interpréte une cuvre musicale est ---—---—--—- .

1) un acteur 2) une diva 3) un cadreur 4) un figurant

Le quotidien "Le Figaro" a un ---—-——- de 500000 exemplaires.

1) rubriquc 2) critiquc 3) colonnc 4) tiragc

---————— est un moyen de transport urbain.

1) L'avion 2) Le tramn 3) L'autocar 4) L'autobus

11 doit faire équilibrer ses menus par un ---------- c'est un médecin qui lui a recommandé.
1) dentiste 2) diététicien 3) généraliste 4) psychologue
Paques est symbolisé par ---------- .

1) un cceur 2) un sapin décoré

3) un bouquct dc muguct 4) unc clochc cn chocolat

On ne distingue plus rien, il y a beaucoup de --—------ ; la route est mauvaise.

1) averse 2) verglas 3) brouillard 4) arc en ciel
Comme sa petite fille avait un front haut, sa meére la coiffait avec ---—----- sur le front.
1) une frange 2) une natte 3) une boucle 4) une meche

On trouve qu'clle ======nu-- trop scs enfants: clle est unc vraic mere-poule.

1) singe 2) couve 3) niche 4) fouine

Quand vous avez des dettes ---——-—--,

1) vous retircz de l'argent 2) on vous doit de I'argent

3) vous gagnez de l'argent 4) vous devez de l'argent a quelqu'un
Ne me racontez pas d'histoire, je sais que vous mentez; ¢a se voit comme ==-------- au milieu

de la figure.
1) I'ceil 2) le nez 3) la bouche 4) le front



R azmbo 541-A (polaisaudl 8 by
Partie C: mise en ordre des mots
Placez les éléments suivants dans un ordre correct:

141- Ne-leur-les-préte-pas

1) Préte les leur ne pas! 2) Ne pas les leur préte!
3) Ne les leur préte pas! 4) Ne préte pas les leur!
142- Bien-travail-importe-faire-son-il-de
1) Tl importe de bien faire son travail. 2) Bien importe de faire il son travail.
3) Dc bicn fairc son travail il importc. 4) 1l importe dc fairc son bicn travail.

143- En-avance-la-sont-nos-arrivés-amis-a-féte
1) Nos amis sont arrivés a la (éle en avance.
2) A la féte nos amis sont arrivés en avance.
3) Nos amis cn avance sont arrives a la fcte.
4) En avance a la féte sont arrivés nos amis.
144- Tante-vicillesse-morte-ma-cst-de
1) Ma tante de vieillesse est morte. 2) De vieillesse est morte ma tante.
3) Ma tante est morte de vieillesse. 4) De ma tante vieillesse est morte.
145- Travail-neige-rendons-pas-a-ne-cause-nous-de-la-au
1) Nous n¢ rendons pas a cause de la neige au travail.
2) Au travail nous nc rendons pas a causc dc la ncige.
3) Au travail a cause de la neige nous ne rendons pas.
4) A cause de la neige nous ne rendons pas au travail.

Partie D: Conversations
Lisez les conversations et répondez aux questions:

146- M. ¢t Mmc¢ Dumont ont la pcine de vous informer du déccs de Mme Martin agée de
Quatre-vingt-deux ans.

1l s'agit d"---——--—-—- .
1) un mariage 2) un enterrement
3) un anniversaire 4) unc f¢licitation du Nouvel An
147- Que dites-vous quand l'interlocuteur ne se présente pas dans une conversation téléphonique.
1) Qui parle? 2) Qui est-ce?
3) Qui étes-vous? 4) C'est de la part de qui?

148- La grand-meére: Encore un peu de gatean?
Marie: Non mereci.
La grand-mére: Mais si, prends-cn encore un peu!
Maric: Non, jc t'assurc.
La grand-mere: Mais c'est tres léger!
Maric: Oui mais...
La grand-meére: Je t'en redonne quand méme un peu.
Marie: Oh mais, je n'ai vraiment plus faim.
Marie -—--—--— de reprendre du giteau.
1) refuse 2) exige 3) interdit 4) recommande
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-Bonjour! Salut Sandrine.

-Salut! Tu vas bicn.

-Ouais, ¢a va.

Le dialogue ci-dessus est une maniére -------—--- de saluer.

1) impoli 2) informelle

3) hiérarchique 4) professionnelle
Est-ce que je peux essayer des chaussures a talons?

-Bicn siir, vous n'étes pas trés grande, il faut porter des chaussures a talons pour mettre en
valeur les vétements habillés.

-Oui....je n'ai pas I'habitude.

-Essaycz ce modcle. Vous chaussez du 37. Tenez; essayez aussi ces escarpins... Magnifique!
Vous devriez porter des chaussures a talons avec une robe.

La vendeuse --—---—-- de porter des chaussures a talons.

1) exige 2) réclame 3) conseille 4) recommande

Partie E: texte a compléter
Complétez le texte suivant a I'aide des réponses proposées:

Enfin la lettre de Marseille arriva. Remplie de (151) -—--m-m—-- heureuses. Sans doute lui
Cpargnait-on lcs mauvaiscs. Remplic aussi de bons (152) ---------- on cngagcait Z¢naide
a se montrer obgissante, bien élevée et hygiénique. A bien travailler a I'école et on saluait
la famille auvergnate (153) ---------- I'avait regue. Elle promettail a une date non précisée
(154) —mmmmmmm- d'Emilienne. Les nouvelles du monde arrivaient mal au Caryol, sans
journal  (155)  ------mm-- radio. On en  prenait quelque chose par
(156) -=----m—-- quand 1l apportait les lettres. On savait que les Américains (157) --------
d¢barquée (158) ---------- Afriquc ct qu'ils feraient bicntdt de méme cn France pour (159)
---------- 1'Occupant. Certains de ceux -ci (160) ---------- dans les bois.

1) nouvelles 2) informations 3) enseignements  4) histoires

1) ordres 2) conscils 3) réclamations 4) rccommandations

1) ou 2) que 3) qui 4) dont

1) une visite 2) un rendez-vous  3) une rencontre 4) une réunion

1) nmi 2) pas 3) non 4) sans

1) l'infirmier 2) le médecin 3) l'employé 4) le facteur

1) ont 2) auront 3) avaient 4) auraient

1)a )T 3)cn 4) d'

1) sortir 2) licencier 3) renvoyer 4) chasser

1) vivaicnt 2) sc logcaient 3) habitaicnt 4) demcuraicnt
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Partie F: Compréhension de texte
Lisez les textes suivants et répondez aux questions:

Texte 1:

Rarement a la maison, les JCU (jeunes célibataires urbains) font la cuisine. Tls
grignotent ou se réchauflent de bons petits plats surgelés que les industriels ont pris soin
de leur concocter. Les JCU ne sont pas la catégorie de la population la plus nombreuse,
mais ils constituent un marché a [orl potentiel, au mode de consommation tres
spécifique. Selon Joelle Bavais ,de I'Institut francais de démoscopie, "ce sont des gens
qui gcrent leur budget sans becaucoup de rigucur”. Les JCU consomment au coup dc
coeur. Normal, 1ls veulent plaire et se plaire. "Chez eux, poursuit Joelle Bavais, certains
postes budgctaires sont largement plus importants que la moycnnce: Ics restaurants, lcs
accessoires, la presse,les weekends, les vacances." Ce qui est sympathique chez les JCU,
c'est qu'ils sacrifient volontiers le nécessaire au super(lu.

Ils sont sous-équipé€s en ¢lectroménager,lave- linge,aspirateur et presse- purée: ils
préferent acheter un magnétoscope ou une caméra vidéo.

Le texte ci- dessus -——--—--——- la vie des JCU
1) narre 2) décrit 3) critique 4) prend partie a
Les jeunes célibataires urbains --------—- .

1) ne mangent jamais chez eux.

2) font une cuisine a la francaise

3) font unc cuisine conventionnelle

4) ne font pas de la cuisine traditionnelle

Les jeunes célibataires urbains constituent ------——-- .

1) un marché a fort potentiel

2) une couche marginale de la société

3) une classe productive de la société

4) unc classc qui gerent s¢ricuscment son budget

Les JCU consacrent leur revenue ----—--—-—- .

1) a la santé 2) au loisir

3) a acheter un logement 4) 4 'achat d'¢lectroménager
Les JCU sont des consommateurs --------—- .

1) logiqucs 2) normaux 3) spccifiques 4) particulicrs
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Texte 2:

Combicn dc personncs sont Ics victimes de la cigarcttes? Plus que cc quc l'on pourrait
penser. On estime chaque année les déceés a 450000 en Europe, 52000 en France et
350000 aux Etats-Unis. Au total, ccla représente 2 a 3 millions de victimes du tabac dans
le monde. Pour un fumeur sur quatre, la perte moyenne d'espérance de vie est de vingt
ans et se solde par un mort avant 65 ans, selon une étude de L'Observatoire de santé de
1'lle de -France.

Par ailleurs, en France, le tabagisme connail une phase d'augmentation pour la
premiere fois depuis 1990 et touche particulierement les femmes. Ce phénomene se
verific malgre la haussc des prix du tabac ¢t 28% dc Francgais fument cncorc.

Ces données mviteraient donc a faire des efforts supplémentaires contre le tabagisme,
actif ou passif. A cct cffet, la France a ¢t¢ l'un des premicrs pays a conduire dcs actions
remarquables contre le tabac. De nos jours, elle poursuit activement la prévention contre le
tabagisme, en mettant en ceuvre les moyens nécessaires pour que la consommation de tabac
diminue. Les cibles prioritaires sont les jeunes afin de retarder leur initiation a la cigarette
qui reste altiranie pour eux. Les campagnes anti-tabac sont destinés aux jeunes appartenant
en particulier aux milieux socio-économiques les moins favorisés. Il peut s'agir de
campagnes chocs ou informatives. Une mesure complémentaire vise a développer des
contréles pour appliquer l'interdiction de vente de tabac aux moins de 18 ans.

Le texte ci-dessus a comme objectif --—----- le public.

1) de décrire 2) d'informer 3) de critiquer 4) d'encourager
I.e nombre des fumeurs est estimé a environ --—-—----- dans le monde

1) 350000 2) 450000 3) 52000 4) 2 a 3 millions
On assiste 2 une augmentation du nombre des --———---—- malgreé la hausse du prix de tabac.
1) femmes 2) jeunes 3) bourgeois 4) adolescents
Selon une étude en L'lle de -France le tabagisme est la cause ---——- avant 65 ans.
1) du cancer 2) des accidents

3) de la mort 4) des avortements

La campagne de 1'anti-tabac vise ---———--—-—- pour diminuer le nombre des fumeurs.

1) les artistes 2) les enfants

3) les femmes 4) les jeunes de milieux défavorisés



